
Estimates 2010 2011 2012 2013 2014 2015 2016 2017 2018 2019

Compensation of employees 1,094 1,201 1,261 1,300 1,376 1,462 1,522 1,651 1,810 1,976

Wages and salaries 972 1,066 1,118 1,147 1,212 1,289 1,344 1,461 1,600 1,755

Employers' social contributions 122 135 143 153 164 173 178 190 210 221

Gross operating surplus 601 606 694 755 753 691 773 1,074 1,035 1,276

Net operating surplus: corporations 68 26 74 85 15 -101 -39 145 8 85

Consumption of fixed capital: corporations 416 455 489 533 592 636 643 747 827 975

Consumption of fixed capital: general governments and non-

profit institutions serving households 117 125 131 137 146 156 169 182 200 216

Gross mixed income 179 189 199 203 204 208 221 223 222 230

Net mixed income 142 149 157 162 161 162 172 167 165 170

Consumption of fixed capital: unincorporated businesses 37 40 42 41 43 46 49 56 57 60

Taxes less subsidies on production [2] 13 12 16 16 19 23 24 26 27 27

Taxes less subsidies on products and imports [2] 24 25 26 26 32 40 44 61 71 77

Statistical discrepancy 5 3 4 -5 -1 -3 -2 -4 3 -2

Gross domestic product at market prices 1,915 2,036 2,200 2,295 2,383 2,421 2,582 3,031 3,168 3,584

https://www150.statcan.gc.ca/t1/tbl1/en/tv.action?pid=3610022101

Gross domestic product, income-based, provincial and territorial, annual (x 1 000 000), 2010-2019
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Geography Nunavut [1]

Dollars

Footnotes:

[1] Prior to 1999, see Northwest Territories including Nunavut.

[2] A review of subsidies in the Canadian System of Macroeconomic Accounts has determined that several entries in the public accounts should be reclassified as subsidies 

on production, from subsidies on products. The reclassification has no impact on the estimates of gross domestic product (GDP) at market prices, or on the overall 

estimates of subsidies. These changes have been incorporated into the data starting in 2020.
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